938. How many factors of 360 are in the form of

+2, where k is an integer®?x
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. If N=411 4412 4 413 | 414 then how

many positive factors of N are there?
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0. If N= 314 4+ 313 _ 12 then what is the
largest prime factor of N?
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a, jol. For how many positive integer values of n,
n?+11n+48
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is an integer?
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/ f02.When 200 is divided by a positive integer x,

the remainder is 8. How many values of x are
ZOO - |0|2+8 there?
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03, When 732 is divided by a positive integer x,

2€A ;732 Z n the remainder is 12. How many values of x
- 7\ are there?
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1o4. When 43 is divided by x, the remainder is

%3 (7 x — 5. If x is a natural number, how many
)M “3)63;@ solutions will x have?
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o5 How many natural numbers less than 225
has odd number of factors?
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loé. The total number of three digit number
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9 lo7. Let p,q,r and s be positive natural numbers having
(PY’M) <___,.-rﬁree exact factors)including 1 and the number itself.
If > p and both are two-digit numbers, and r > s

and both are one-digit numbers, then the value of
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(08. Find the number of prime factors in the
product (30)° x (24)°.
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|04. What is the smallest nhumber which has
exactly 6 factors?
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110. What is the smallest number which has 15
factors?
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(1l. In how many ways 320 can be written as a
product of two integers?
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12. How many positive integer pairs of p & q

satisfy pq = 324?
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. How many numbers less than 36 are relative
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D4 Camins |N How many numbers less than 100 are co-

,—prlmes to 30?
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115, How many numbers not more than 100 are
co-primes to 18?
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0 evenn— 2V
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The sum of all the factors of
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Sof of 3600 (Compob®2)
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1e. The sum of all even factors of 320 is:
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I17. Find the sum of alllodd)natural numbers which
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@ 118. Find the sum of all factors of 840 which are
divisible by 6?
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19. The sum of all the even factors of 504 which
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120. Find the sum of all the factors of 1240 which

\/ X are divisible by 4 but not by 8?
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12). What is the sum of the
divisors of 484 that are

uares?
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123, What is the product of all the factors of 576?
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